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1. E=R%(0.1mg NO3-N/mL)
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7. 3 A & H A (Y=AX+B)

0.045 0.0 0.045 0.00045 0.0001 0.002025
4mL 0.134 0.02 0.134 0.00268 0.0004 0.017956
8mL 0.337 0.04 0.337 0.01348 0.0016 0.113569
10mL 0.401 0.05 0.401 0.02005 0.0025 0.160801

> 0.12 0.917 0.03666 0.0046 0.294351
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2mL

0.045 0.01 0.045 0.00045 0.0001 0.002025
4mL 0.134 0.02 0.134 0.00268 0.0004 0.017956
8mL 0.337 0.04 0.337 0.01348 0.0016 0.113569
10mL 0.401 0.05 0.401 0.02005 0.0025 0.160801
> 0.12 0.917 0.03666 0.0046 0.294351
N2 om n) iy = DTy
ny i —Oz)?
am po 2T 2 diayd
nyjz’— (D)
a= 9.15 b=-0.0452
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7. 817 X Al (Y=AX+B)

-----

0.045 0.01 0.045 0.00045 0.0001  0.002025
4mL 0.134 0.02 0.134 0.00268 0.0004  0.017956
8mL 0.337 0.04 0.337 0.01348 0.0016  0.113569
10mL 0.401 0.05 0.401 0.02005 0.0025  0.160801

> 0.12 0.917 0.03666 0.0046  0.294351
Ny Xv— 3 ,X DV

2} A 4= (correlation coefficient) R =
VInDoxP = (Q0x)%] ) v = O v)2

R=0.9952
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